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QUESTION 1
Which of the following best describes the difference between the use of walkthroughs and inspections in this scenario?

A. Walkthroughs of specifications would enable the individuals to learn more about the system being developed, whilst
inspections would allow the organization as a whole to improve.

B. Walkthroughs of signalling rules will be more cost effective than inspections.

C. Inspections of code should be carried out by the developers, whilst code walkthroughs should include just the
testers.

D. A walkthrough is an example of a static testing technique, whilst an inspection is an example of a dynamic testing
technique.

Correct Answer: A

QUESTION 2

Which of the following is the main purpose of an incident tracking process?
A. To identify the average number of steps required to recreate each incident.
B. To calculate the average turnaround times per defect.

C. To identify the priority of each incident.

D. To understand the status of each incident at any given time.

Correct Answer: D

Case Study # 3

Scenario

Data is transmitted over the internet as a series of packets. Each packet is sent to its destination via the best available
route. The decision on the best available route is made by a series of routers on the internet.

In order to make the best decision on the route to take, the router:

1) Scans the destination address and matches it against rules set up in a configuration table. 2) Checks the
performance of the primary connection to see if it is good enough to send the packet. If not,

it seeks an alternative.
Routers handle many millions of packets being sent at the same time. Packets can take the form of email

messages, data files etc.

QUESTION 3
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Which one of the following test tools would you recommend for the E2E phase.

A. A configuration management tool to ensure that all user-stories have been properly archived.
B. A test design tool to create the test cases as efficiently as possible.

C. A performance test tool to check that anticipated loading can be handled.

D. A modelling tool to verify the stock exchange pricing structures.

Correct Answer: C

QUESTION 4

Which of the following review types would be recommended at the start of each Sprint, for the reason given?

A. An inspection, to find errors in the user-stories.

B. A management review, to check that the user-stories will accurately reflect the rules for accessibility.

C. A walkthrough of the set of user-stories, to ensure that the developers and testers understand what is to be built.
D. A technical review of the test plan, to ensure that the developers are aware that they must produce

good quality code.

Correct Answer: C

QUESTION 5

Which of the following best describes a testing challenge of the application domain of the routers described?
A. Testing that the receivers PC can store emails routed to it.

B. Testing that large organisations can scan incoming files routed to them for viruses.

C. Testing that packets are delivered by the routers in the required timescales.

D. Testing that files can be sent in any language.

Correct Answer: C
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